PRADINE L BED RS L

(1) Tz 2) 1la 3) 3=z 4) -9
(1) 2x+52x=(2+5)z

=Tz

(2) 8a+3a=8+3)a
=1la

(3) 9r—6x=(9—6)x
=3z

4 y—1y=(1-10y
=-%

(1) 8z+1 2) a-—2 (3) bx—4 4) —a+9

(1) 2x+446x—3=2r+6x+4—3
=(24+6)z+(4—-3)
=8z+1

2) 3a¢—9—2a+7=3a—2a—-9+7
=3—-2)a+(-9+7)

=a—2

3 —146xz—3—z=6xz—x—1-—3
=6-—1lz+(-1-3)
=5z —4

(4 6—9% +3+8z=—9 +8a+6+3
=(—94+8)a+(6+3)

=—a+9
5) Tr—4—8—92=Txr—9r—4-—38
=(7—92x+(—4-8)

=—2z—12

(5

—2z—12

1) —2a-—8 2) 8y+2 3)
1) 7a4+2—9%—-10=7a —9a +2—-10
=(7—9)a +(2-10)
=—2a-8
2) 6+1ly—3y—4=11ly—3y+6—14
=(11-3y+(6—4)
=8y +2
3) —124+6a—3—a=6a—a—12—3
=(6—1)a+(—12-3)
=b5a—15
4 —8x—9+8z+15=—-8x+8x—9+15
848z +(—9+415)
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